# THE MODIFIED PARSEVAL EQUALITY OF STURM-LIOUVILLE PROBLEMS WITH COUPLED BOUNDARY CONDITION 

Mu Dan, Jiong Sun, Ji-Jun Ao and Junhui Xie

(Communicated by F. Gesztesy)


#### Abstract

We consider the Sturm-Liouville(S-L) problems with coupled boundary condition and transmission condition. Defining a Hilbert space related to the transmission conditions, we discuss the S-L problems in this modified Hilbert space. We prove the Parseval equality of the S-L problems with the transmission conditions in a modified Hilbert space and derive the Green's function for these problems.


## 1. Introduction

Sturm-Liouville (S-L) problems with transmission conditions appear in mathematics, mechanics, physics and in other applications. The S-L problems with transmission conditions are concerned in many publications [2, 4, 10, 13], however they are only for the S-L problems with the separated boundary conditions. Here we construct the Green's function of the S-L problems with coupled boundary condition and transmission condition, and establish the modified Parseval equality of the considered S-L problems.

The differential equation we considered is

$$
\begin{equation*}
l y:=-y^{\prime \prime}+q(x) y=\lambda y, \quad x \in J=[-1,0) \cup(0,1] \tag{1.1}
\end{equation*}
$$

with the coupled boundary condition (CBC)

$$
\begin{equation*}
A Y(-1)+Y(1)=0, \quad Y( \pm 1)=\binom{y( \pm 1)}{y^{\prime}( \pm 1)} \tag{1.2}
\end{equation*}
$$

and the transmission condition (TC)

$$
\begin{equation*}
K Y(0-)+Y(0+)=0, \quad Y(0 \pm)=\binom{y(0 \pm)}{y^{\prime}(0 \pm)} \tag{1.3}
\end{equation*}
$$

where $\lambda$ is the complex eigenparameter; $A, K$ are $2 \times 2$ matrices

$$
A=e^{i \gamma}\left(\begin{array}{ll}
\alpha_{1} & \alpha_{2}  \tag{1.4}\\
\alpha_{3} & \alpha_{4}
\end{array}\right), \quad K=\left(\begin{array}{ll}
k_{11} & k_{12} \\
k_{21} & k_{22}
\end{array}\right)
$$

[^0]with $-\pi \leqslant \gamma \leqslant \pi, \alpha_{1} \alpha_{4}-\alpha_{2} \alpha_{3}>0, k_{11} k_{22}-k_{12} k_{21}>0$; and the matrices $(A,-I)$, $(K,-I)$ have full rank, $I$ is the $2 \times 2$ identity matrix; $q \in L(J, \mathbb{R})$. Note that the conditions are minimal in the sense that it is necessary and sufficient for all initial value problems of the equation (1.1) to have unique solutions on $[-1,1]([6,14]) ; \alpha_{j}$ $(j=1,2,3,4)$ and $k_{m j}(m, j=1,2)$ are real numbers.

The organization of this paper is as follows: After the Introduction in Section 1, we give the condition for $\lambda$ being the eigenvalue of the S-L problem with the CBC and TC, and the eigenvalues of the S-L problem (1.1)-(1.4) are countably infinite in Section 2. In Section 3, we construct the Green's function of the S-L problem with the CBC and TC. Finally, we derive the eigenfunction expansion for the Green's function and establish the modified Parseval equality by using the eigenfunction expansion in Section 4.

## 2. The eigenvalues of the S-L operators

In this section, we construct the basic solutions of the equation (1.1), which satisfy the TC, and characterize the eigenvalues of the S-L problem (1.1)-(1.4).

Let $h=\operatorname{det} K$, where $K$ is the coefficient matrix in the TC (1.3), (1.4). Define a new inner product in $L^{2}(J)$ as follows:

$$
\begin{equation*}
\langle f, g\rangle=h \int_{-1}^{0} f_{1} \bar{g}_{1} d x+\int_{0}^{1} f_{2} \bar{g}_{2} d x, \text { for } f, g \in L^{2}(J) \tag{2.1}
\end{equation*}
$$

where $f_{1}=\left.f(x)\right|_{[-1,0)}, f_{2}=\left.f(x)\right|_{(0,1]} ; h=\operatorname{det} K>0, K$ is the coefficient matrix in the TC (1.3), (1.4). It is easy to verify that $\left(L^{2}(J),\langle\cdot, \cdot\rangle\right)$ is a Hilbert space. For simplicity, we denote it by $H$, and the norm induced by the inner product is denoted by $\|\cdot\|_{H}$. Now we consider the S-L problems (1.1)-(1.4) in the associated Hilbert space $H$.

The operator $L_{M}$ related to the S-L problems (1.1)-(1.4) is defined by

$$
\begin{gathered}
\mathscr{D}\left(L_{M}\right)=\left\{y \in H \mid y_{1}, y_{1}^{\prime} \in A C_{l o c}[-1,0), y_{2}, y_{2}^{\prime} \in A C_{l o c}(0,1], \quad l y \in H\right. \\
\text { and } K Y(0-)+Y(0+)=0\} \\
L_{M} y=l y, \quad y \in \mathscr{D}\left(L_{M}\right)
\end{gathered}
$$

where $A C_{l o c}[-1,0)$ and $A C_{l o c}(0,1]$ denote the sets of complex-valued absolutely continuous functions on whole compact subintervals of $[-1,0)$ and $(0,1]$. The S-L operator $L$ is defined by

$$
\begin{gathered}
\mathscr{D}(L)=\left\{y \in \mathscr{D}\left(L_{M}\right) \mid A Y(-1)+Y(1)=0\right\} \\
L y=l y, \quad y \in \mathscr{D}(L)
\end{gathered}
$$

THEOREM 2.1. If the matrices $A, K$ satisfy $A E A^{*}=h E, K E K^{*}=h E$, with $E=$ $\left(\begin{array}{cc}0 & -1 \\ 1 & 0\end{array}\right)$, then the operator $L$ is self-adjoint.

## Proof. See [5].

Below, we consider the S-L problems (1.1)-(1.4) with the conditions

$$
A E A^{*}=h E, K E K^{*}=h E .
$$

That is, the concerned S-L operator $L$ generated by the S-L problems (1.1)-(1.4) is self-adjoint. We shall define two fundamental solutions

$$
\phi(x, \lambda)=\left\{\begin{array}{l}
\phi_{1}(x, \lambda), x \in[-1,0), \\
\phi_{2}(x, \lambda), x \in(0,1],
\end{array} \text { and } \quad \chi(x, \lambda)=\left\{\begin{array}{l}
\chi_{1}(x, \lambda), x \in[-1,0), \\
\chi_{2}(x, \lambda), x \in(0,1],
\end{array}\right.\right.
$$

of the differential equation (1.1), which satisfy the TC (1.3) through the following procedure.

At first we consider the initial-value problem

$$
\left\{\begin{array}{l}
-y^{\prime \prime}+q_{1}(x) y=\lambda y, \quad x \in[-1,0)  \tag{2.2}\\
y(-1)=1, y^{\prime}(-1)=0
\end{array}\right.
$$

By virtue of Theorem 1.5 in [11], the problem has a unique solution $\phi_{1}(x, \lambda)$ for each $\lambda \in \mathbb{C}$, which is an entire function of $\lambda$ for each fixed $x \in[-1,0)$. Similarly, for the initial-value problem

$$
\left\{\begin{array}{l}
-y^{\prime \prime}+q_{1}(x) y=\lambda y, \quad x \in[-1,0)  \tag{2.3}\\
y(-1)=0, y^{\prime}(-1)=1
\end{array}\right.
$$

the problem also has a unique solution $\chi_{1}(x, \lambda)$ which is an entire function of $\lambda$ for each fixed $x \in[-1,0)$.

The initial-value problem

$$
\left\{\begin{array}{l}
-y^{\prime \prime}+q_{2}(x) y=\lambda y, \quad x \in(0,1]  \tag{2.4}\\
y(0+)=k_{11} \phi_{1}(0-, \lambda)+k_{12} \phi_{1}^{\prime}(0-, \lambda) \\
y^{\prime}(0+)=k_{21} \phi_{1}(0-, \lambda)+k_{22} \phi_{1}^{\prime}(0-, \lambda)
\end{array}\right.
$$

has a unique solution $\phi_{2}(x, \lambda)$ for each $\lambda \in \mathbb{C}$. Moreover $\phi_{2}(x, \lambda)$ is an entire function of $\lambda$ for each fixed $x \in(0,1]$. Similarly, the initial-value problem

$$
\left\{\begin{array}{l}
-y^{\prime \prime}+q_{2}(x) y=\lambda y, \quad x \in(0,1]  \tag{2.5}\\
y(0+)=k_{11} \chi_{1}(0-, \lambda)+k_{12} \chi_{1}^{\prime}(0-, \lambda) \\
y^{\prime}(0+)=k_{21} \chi_{1}(0-, \lambda)+k_{22} \chi_{1}^{\prime}(0-, \lambda)
\end{array}\right.
$$

also has a unique solution $\chi_{2}(x, \lambda)$, which is an entire function of $\lambda$ for each fixed $x \in(0,1]$. Obviously, $\phi(x, \lambda), \chi(x, \lambda)$ satisfy the equation (1.1) and the TC (1.3).

It is well known, from the ordinary linear differential equation theory, the Wronskian $W\left(\phi_{j}(x, \lambda), \chi_{j}(x, \lambda)\right)$ is independent of the variable $x$. Let $\omega_{j}(\lambda):=W\left(\phi_{j}(x, \lambda)\right.$,
$\left.\chi_{j}(x, \lambda)\right)$, then we have

$$
\begin{aligned}
\omega_{1}(\lambda) & =\left.\omega_{1}(\lambda)\right|_{x=-1}=\left|\begin{array}{ll}
\phi_{1}(-1, \lambda) & \chi_{1}(-1, \lambda) \\
\phi_{1}^{\prime}(-1, \lambda) & \chi_{1}^{\prime}(-1, \lambda)
\end{array}\right|=1 \\
\omega_{2}(\lambda) & =\left.\omega_{2}(\lambda)\right|_{x=0+}=\left|\begin{array}{ll}
\phi_{2}(0+, \lambda) & \chi_{2}(0+, \lambda) \\
\phi_{2}^{\prime}(0+, \lambda) & \chi_{2}^{\prime}(0+, \lambda)
\end{array}\right| \\
& =\left|\begin{array}{ll}
k_{11} \phi_{1}(0-, \lambda)+k_{12} \phi_{1}^{\prime}(0-, \lambda) & k_{11} \chi_{1}(0-, \lambda)+k_{12} \chi_{1}^{\prime}(0-, \lambda) \\
k_{21} \phi_{1}(0-, \lambda)+k_{22} \phi_{1}^{\prime}(0-, \lambda) & k_{21} \chi_{1}(0-, \lambda)+k_{22} \chi_{1}^{\prime}(0-, \lambda)
\end{array}\right|=h \omega_{1}(\lambda)=h .
\end{aligned}
$$

Lemma 2.2. Let

$$
y(x, \lambda)=\left\{\begin{array}{l}
y_{1}(x, \lambda), x \in[-1,0) \\
y_{2}(x, \lambda), x \in(0,1]
\end{array}\right.
$$

be a solution of the equation (1.1), then the solution can be expressed in the following form

$$
y(x, \lambda)= \begin{cases}c_{1} \phi_{1}(x, \lambda)+c_{2} \chi_{1}(x, \lambda), & x \in[-1,0)  \tag{2.6}\\ d_{1} \phi_{2}(x, \lambda)+d_{2} \chi_{2}(x, \lambda), & x \in(0,1]\end{cases}
$$

If $y(x, \lambda)$ satisfies the $T C(1.3)$, then $c_{1}=d_{1}, c_{2}=d_{2}$.

Proof. Since $y(x, \lambda)$ satisfies the TC (1.3), namely

$$
\begin{aligned}
k_{11}\left(c_{1} \phi_{1}(0-, \lambda)\right. & \left.+c_{2} \chi_{1}(0-, \lambda)\right)+k_{12}\left(c_{1} \phi_{1}^{\prime}(0-, \lambda)+c_{2} \chi_{1}^{\prime}(0-, \lambda)\right) \\
& -\left(d_{1} \phi_{2}(0+, \lambda)+d_{2} \chi_{2}(0+, \lambda)\right)=0 \\
k_{21}\left(c_{1} \phi_{1}(0-, \lambda)\right. & \left.+c_{2} \chi_{1}(0-, \lambda)\right)+k_{22}\left(c_{1} \phi_{1}^{\prime}(0-, \lambda)+c_{2} \chi_{1}^{\prime}(0-, \lambda)\right) \\
& -\left(d_{1} \phi_{2}^{\prime}(0+, \lambda)+d_{2} \chi_{2}^{\prime}(0+, \lambda)\right)=0
\end{aligned}
$$

From (2.4), (2.5), the last equation system becomes

$$
\left\{\begin{array}{l}
\left(c_{1}-d_{1}\right) \phi_{2}(0+, \lambda)+\left(c_{2}-d_{2}\right) \chi_{2}(0+, \lambda)=0 \\
\left(c_{1}-d_{1}\right) \phi_{2}^{\prime}(0+, \lambda)+\left(c_{2}-d_{2}\right) \chi_{2}^{\prime}(0+, \lambda)=0
\end{array}\right.
$$

Since the determinant of the coefficient matrix of the equation system is

$$
\left|\begin{array}{ll}
\phi_{2}(0+, \lambda) & \chi_{2}(0+, \lambda) \\
\phi_{2}^{\prime}(0+, \lambda) & \chi_{2}^{\prime}(0+, \lambda)
\end{array}\right|=\omega_{2}(\lambda) \neq 0
$$

we get $c_{1}=d_{1}, c_{2}=d_{2}$.
Let

$$
\Phi_{j}(x, \lambda)=\left(\begin{array}{l}
\phi_{j}(x, \lambda) \chi_{j}(x, \lambda) \\
\phi_{j}^{\prime}(x, \lambda)
\end{array} \chi_{j}^{\prime}(x, \lambda) ., \quad j=1,2\right.
$$

and let

$$
\Phi(x, \lambda)=\left\{\begin{array}{l}
\Phi_{1}(x, \lambda), x \in[-1,0)  \tag{2.7}\\
\Phi_{2}(x, \lambda), x \in(0,1]
\end{array}\right.
$$

THEOREM 2.3. Let $\lambda_{0} \in \mathbb{C}$. $\lambda_{0}$ is an eigenvalue of the $S$ - $L$ problems (1.1)-(1.4) if and only if $\Delta\left(\lambda_{0}\right):=\operatorname{det}\left(A-\Phi\left(1, \lambda_{0}\right)\right)=0$, where $A=e^{i \gamma}\left(\begin{array}{ll}\alpha_{1} & \alpha_{2} \\ \alpha_{3} & \alpha_{4}\end{array}\right)$.

Proof. Let $\lambda_{0}$ be an eigenvalue of the S-L problems (1.1)-(1.4) and $y\left(x, \lambda_{0}\right)$ be any corresponding eigenfunction. From Lemma 2.2, there exist $c_{1}, c_{2}$ such that

$$
y\left(x, \lambda_{0}\right)=\left\{\begin{array}{l}
c_{1} \phi_{1}\left(x, \lambda_{0}\right)+c_{2} \chi_{1}\left(x, \lambda_{0}\right), x \in[-1,0)  \tag{2.8}\\
c_{1} \phi_{2}\left(x, \lambda_{0}\right)+c_{2} \chi_{2}\left(x, \lambda_{0}\right), x \in(0,1]
\end{array}\right.
$$

where at least one of the constants $c_{1}, c_{2}$ is not zero. Substituting (2.8) into the boundary condition (1.2) we obtain

$$
e^{i \gamma}\left(\begin{array}{ll}
\alpha_{1} & \alpha_{2} \\
\alpha_{3} & \alpha_{4}
\end{array}\right)\binom{c_{1} \phi_{1}\left(-1, \lambda_{0}\right)+c_{2} \chi_{1}\left(-1, \lambda_{0}\right)}{c_{1} \phi_{1}^{\prime}\left(-1, \lambda_{0}\right)+c_{2} \chi_{1}^{\prime}\left(-1, \lambda_{0}\right)}-\binom{c_{1} \phi_{2}\left(1, \lambda_{0}\right)+c_{2} \chi_{2}\left(1, \lambda_{0}\right)}{c_{1} \phi_{2}^{\prime}\left(1, \lambda_{0}\right)+c_{2} \chi_{2}^{\prime}\left(1, \lambda_{0}\right)}=0
$$

that is,

$$
\left.\left.\left[e^{i \gamma}\left(\begin{array}{cc}
\alpha_{1} & \alpha_{2} \\
\alpha_{3} & \alpha_{4}
\end{array}\right)-\left(\begin{array}{l}
\phi_{2}\left(1, \lambda_{0}\right) \\
\phi_{2}^{\prime}\left(1, \lambda_{0}\right)
\end{array} \chi_{2}^{\prime}\left(1, \lambda_{0}\right)\right) \text { ( } \lambda_{0}\right) ~\right) ~\right]\binom{c_{1}}{c_{2}}=0
$$

Since at least one of the constants $c_{1}, c_{2}$ is not zero, we obtain

$$
\begin{equation*}
\Delta\left(\lambda_{0}\right)=\operatorname{det}\left(A-\Phi\left(1, \lambda_{0}\right)\right)=0 \tag{2.9}
\end{equation*}
$$

where $A=e^{i \gamma}\left(\begin{array}{ll}\alpha_{1} & \alpha_{2} \\ \alpha_{3} & \alpha_{4}\end{array}\right)$ with $-\pi<\gamma \leqslant \pi$ and $\alpha_{1} \alpha_{4}-\alpha_{2} \alpha_{3}>0$.
Conversely, if $\operatorname{det}\left(A-\Phi\left(1, \lambda_{0}\right)\right)=0$, then the equation

$$
\left(A-\Phi\left(1, \lambda_{0}\right)\right)\binom{d_{1}}{d_{2}}=0
$$

has a nonzero solution $\left(c_{1}^{\prime}, c_{2}^{\prime}\right)$. Let

$$
y\left(x, \lambda_{0}\right)= \begin{cases}c_{1}^{\prime} \phi_{1}\left(x, \lambda_{0}\right)+c_{2}^{\prime} \chi_{1}\left(x, \lambda_{0}\right), & x \in[-1,0)  \tag{2.10}\\ c_{1}^{\prime} \phi_{2}\left(x, \lambda_{0}\right)+c_{2}^{\prime} \chi_{2}\left(x, \lambda_{0}\right), & x \in(0,1]\end{cases}
$$

Then $y\left(x, \lambda_{0}\right)$ is a nonzero solution of the equation (1.1) and satisfies the boundary and transmission conditions (1.2), (1.3). Hence $\lambda_{0}$ is an eigenvalue of the S-L problems (1.1)-(1.4), and $y\left(x, \lambda_{0}\right)$ is the corresponding eigenfunction.

Lemma 2.4. Let $L$ be the operator defined by the $S$-L problems (1.1)-(1.4). Then the eigenvalues of the operator $L$ are countably infinite.

Proof. From Theorem 2.3, the eigenvalues of the S-L problems (1.1)-(1.4) are zeros of the entire function $\Delta(\lambda)$. Since the S-L operator $L$ generated by the S-L problems (1.1)-(1.4) is self-adjoint, the eigenvalues of the operator $L$ are real. Then $\Delta(\lambda) \neq 0$ for $\lambda \in \mathbb{C}(\mathfrak{I} \lambda \neq 0)$, so $\Delta(\lambda)$ is not identical to zero for $\lambda \in \mathbb{C} \backslash \mathbb{R}$. By the properties of zeros of the entire function, the eigenvalues of the operator $L$ are countably infinite.

## 3. Green's function of the S-L problems

We go on to construct the Green's function of the S-L operator $L$ generated by the S-L problems (1.1)-(1.4). Let $\lambda \in \Omega=\{\lambda \in \mathbb{C} \mid \Delta(\lambda) \neq 0$. $\}$ and let $f \in H$. We consider the non-homogeneous differential equation

$$
\begin{equation*}
l y-\lambda y=f(x), \quad x \in[-1,0) \cup(0,1] \tag{3.1}
\end{equation*}
$$

together with the CBC and TC (1.2)-(1.4). We can represent the general solution of the differential equation $l y-\lambda y=f_{1}(x), x \in[-1,0)$ in the form

$$
\begin{align*}
y_{1}(x, \lambda)= & \phi_{1}(x, \lambda) \int_{-1}^{x} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi-\chi_{1}(x, \lambda) \int_{-1}^{x} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi  \tag{3.2}\\
& +d_{1} \phi_{1}(x, \lambda)+d_{2} \chi_{1}(x, \lambda)
\end{align*}
$$

where $f_{1}=\left.f(x)\right|_{[-1,0)}$ and $d_{1}, d_{2} \in \mathbb{C}$. And the general solution of the differential equation $l y-\lambda y=f_{2}(x), x \in(0,1]$ can be represented in the form

$$
\begin{align*}
y_{2}(x, \lambda)= & \frac{1}{h} \phi_{2}(x, \lambda) \int_{0}^{x} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi-\frac{1}{h} \chi_{2}(x, \lambda) \int_{0}^{x} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi  \tag{3.3}\\
& +e_{1} \phi_{2}(x, \lambda)+e_{2} \chi_{2}(x, \lambda) .
\end{align*}
$$

where $f_{2}=\left.f(x)\right|_{(0,1]}$ and $e_{1}, e_{2} \in \mathbb{C}$. Taking into account the TC (1.3), (1.4) and by (2.4), (2.5), we obtain

$$
\begin{align*}
& k_{11} y(0-)+k_{12} y^{\prime}(0-)-y(0+)  \tag{3.4}\\
&= \phi_{2}(0, \lambda) \int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi-\chi_{2}(0, \lambda) \int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+d_{1} \phi_{2}(0, \lambda) \\
&+d_{2} \chi_{2}(0, \lambda)-e_{1} \phi_{2}(0, \lambda)-e_{2} \chi_{2}(0, \lambda)=0
\end{align*}
$$

and

$$
\begin{align*}
& k_{21} y(0-)+k_{22} y^{\prime}(0-)-y^{\prime}(0+)  \tag{3.5}\\
&= \phi_{2}^{\prime}(0, \lambda) \int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi-\chi_{2}^{\prime}(0, \lambda) \int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+d_{1} \phi_{2}^{\prime}(0, \lambda) \\
& \quad+d_{2} \chi_{2}^{\prime}(0, \lambda)-e_{1} \phi_{2}^{\prime}(0, \lambda)-e_{2} \chi_{2}^{\prime}(0, \lambda)=0
\end{align*}
$$

From (3.4), (3.5), we get

$$
e_{1}=d_{1}+\int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi, \quad e_{2}=d_{2}-\int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi
$$

Substituting them into (3.3), we obtain

$$
\begin{align*}
y_{2}(x, \lambda)= & \frac{1}{h} \phi_{2}(x, \lambda) \int_{0}^{x} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi-\frac{1}{h} \chi_{2}(x, \lambda) \int_{0}^{x} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi  \tag{3.6}\\
& +\phi_{2}(x, \lambda) \int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+\chi_{2}(x, \lambda) \int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi \\
& +d_{1} \phi_{2}(x, \lambda)+d_{2} \chi_{2}(x, \lambda) .
\end{align*}
$$

By applying the boundary condition (1.2), we have

$$
\begin{aligned}
& \alpha_{1} e^{i \gamma} y(-1)+\alpha_{2} e^{i \gamma} y^{\prime}(-1)-y(1) \\
= & \alpha_{1} e^{i \gamma}\left(d_{1} \phi_{1}(-1, \lambda)+d_{2} \chi_{1}(-1, \lambda)\right)+\alpha_{2} e^{i \gamma}\left(d_{1} \phi_{1}^{\prime}(-1, \lambda)\right. \\
& \left.+d_{2} \chi_{1}^{\prime}(-1, \lambda)\right)-\frac{1}{h} \phi_{2}(1, \lambda) \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi+\frac{1}{h} \chi_{2}(1, \lambda) \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi \\
& -\phi_{2}(1, \lambda) \int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi-\chi_{2}(1, \lambda) \int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi \\
& -d_{1} \phi_{2}(1, \lambda)-d_{2} \chi_{2}(1, \lambda)=0,
\end{aligned}
$$

and

$$
\begin{aligned}
& \alpha_{3} e^{i \gamma} y(-1)+\alpha_{4} e^{i \gamma} y^{\prime}(-1)-y^{\prime}(1) \\
= & \alpha_{3} e^{i \gamma}\left(d_{1} \phi_{1}(-1, \lambda)+d_{2} \chi_{1}(-1, \lambda)\right)+\alpha_{4} e^{i \gamma}\left(d_{1} \phi_{1}^{\prime}(-1, \lambda)\right. \\
& \left.+d_{2} \chi_{1}^{\prime}(-1, \lambda)\right)-\frac{1}{h} \phi_{2}^{\prime}(1, \lambda) \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi+\frac{1}{h} \chi_{2}^{\prime}(1, \lambda) \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi \\
& -\phi_{2}^{\prime}(1, \lambda) \int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi-\chi_{2}^{\prime}(1, \lambda) \int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi \\
& -d_{1} \phi_{2}^{\prime}(1, \lambda)-d_{2} \chi_{2}^{\prime}(1, \lambda)=0 .
\end{aligned}
$$

And from the values of $\phi_{1}(-1, \lambda), \phi_{1}^{\prime}(-1, \lambda), \chi_{1}(-1, \lambda), \chi_{1}^{\prime}(-1, \lambda)$ in (2.2), (2.3), the following equations related to $d_{1}, d_{2}$ are obtained

$$
\left\{\begin{array}{l}
d_{1}\left(\alpha_{1} e^{i \gamma}-\phi_{2}(1, \lambda)\right)+d_{2}\left(\alpha_{2} e^{i \gamma}-\chi_{2}(1, \lambda)\right)-\phi_{2}(1, \lambda)\left(\int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi\right.  \tag{3.7}\\
\left.\quad+\frac{1}{h} \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)+\chi_{2}(1, \lambda)\left(\int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi\right. \\
\left.\quad+\frac{1}{h} \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)=0 \\
d_{1}\left(\alpha_{1} e^{i \gamma}-\phi_{2}^{\prime}(1, \lambda)\right)+d_{2}\left(\alpha_{2} e^{i \gamma}-\chi_{2}^{\prime}(1, \lambda)\right)-\phi_{2}^{\prime}(1, \lambda)\left(\int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi\right. \\
\left.\quad+\frac{1}{h} \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)+\chi_{2}^{\prime}(1, \lambda)\left(\int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi\right. \\
\left.\quad+\frac{1}{h} \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)=0
\end{array}\right.
$$

Since the determinant of the coefficients of the above equations is equal to $\Delta(\lambda)$, which is nonzero for $\lambda \in \Omega$, the equations have the solutions

$$
\left\{\begin{align*}
d_{1}= & \frac{1}{\Delta(\lambda)} \phi_{24}(1)\left(\int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+\frac{1}{h} \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)  \tag{3.8}\\
& +\frac{1}{\Delta(\lambda)} \chi_{24}(1)\left(\int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+\frac{1}{h} \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right) \\
d_{2}= & \frac{1}{\Delta(\lambda)} \phi_{13}(1)\left(\int_{-1}^{0} \chi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+\frac{1}{h} \int_{0}^{1} \chi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right) \\
& +\frac{1}{\Delta(\lambda)} \chi_{13}(1)\left(\int_{-1}^{0} \phi_{1}(\xi, \lambda) f_{1}(\xi) d \xi+\frac{1}{h} \int_{0}^{1} \phi_{2}(\xi, \lambda) f_{2}(\xi) d \xi\right)
\end{align*}\right.
$$

where

$$
\begin{align*}
& \phi_{13}(1)=\alpha_{1} e^{i \gamma} \phi_{2}^{\prime}(1, \lambda)-\alpha_{3} e^{i \gamma} \phi_{2}(1, \lambda), \phi_{24}(1)=\alpha_{4} e^{i \gamma} \phi_{2}(1, \lambda)-\alpha_{2} e^{i \gamma} \phi_{2}^{\prime}(1, \lambda)-\omega_{2},  \tag{3.9}\\
& \chi_{24}(1)=\alpha_{2} e^{i \gamma} \chi_{2}^{\prime}(1, \lambda)-\alpha_{4} e^{i \gamma} \chi_{2}(1, \lambda), \chi_{13}(1)=\alpha_{3} e^{i \gamma} \chi_{2}(1, \lambda)-\alpha_{1} e^{i \gamma} \chi_{2}^{\prime}(1, \lambda)+\omega_{2} .
\end{align*}
$$

Substituting (3.9) into (3.2), (3.6), we obtain

$$
\begin{equation*}
y(x, \lambda)=h \int_{-1}^{0} G(x, \xi, \lambda) f_{1}(\xi) d \xi+\int_{0}^{1} G(x, \xi, \lambda) f_{2}(\xi) d \xi \tag{3.10}
\end{equation*}
$$

where $G(x, \xi, \lambda)$ is as follows:

$$
\begin{align*}
& G(x, \xi, \lambda)=  \tag{3.11}\\
& \qquad \begin{array}{cr}
\frac{1}{\Delta(\lambda) h}\left[\chi_{13}(1) \phi_{1}(x, \lambda)-\phi_{13}(1) \chi_{1}(x, \lambda)\right] \chi_{1}(\xi, \lambda)+\frac{1}{\Delta(\lambda) h}\left[\phi_{24}(1) \chi_{1}(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{1}(x, \lambda)\right] \phi_{1}(\xi, \lambda), & -1<\xi \leqslant x<0, \\
\frac{1}{\Delta(\lambda) h}\left[\phi_{24}(1) \phi_{1}(x, \lambda)-\phi_{13}(1) \chi_{1}(x, \lambda)\right] \chi_{1}(\xi, \lambda)+\frac{1}{\Delta(\lambda) h}\left[\chi_{13}(1) \chi_{1}(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{1}(x, \lambda)\right] \phi_{1}(\xi, \lambda), & -1<x \leqslant \xi<0, \\
\frac{1}{\triangle(\lambda) h^{2}}\left[\phi_{24}(1) \phi_{1}(x, \lambda)-\phi_{13}(1) \chi_{1}(x, \lambda)\right] \chi_{2}(\xi, \lambda)+\frac{1}{\Delta(\lambda) h^{2}}\left[\chi_{13}(1) \chi_{1}(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{1}(x, \lambda)\right] \phi_{2}(\xi, \lambda), & -1<x<0,0<\xi<1, \\
\frac{1}{\triangle(\lambda)}\left[\chi_{13}(1) \phi_{2}(x, \lambda)-\phi_{13}(1) \chi_{2}(x, \lambda)\right] \chi_{1}(\xi, \lambda)+\frac{1}{\Delta(\lambda)}\left[\phi_{24}(1) \chi_{2}(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{2}(x, \lambda)\right] \phi_{1}(\xi, \lambda), & -1<\xi<0,0<x<1, \\
\frac{1}{\Delta(\lambda) h}\left[\chi_{13}(1) \phi_{2}(x, \lambda)-\phi_{13}(1) \chi 2(x, \lambda)\right] \chi_{2}(\xi, \lambda)+\frac{1}{\Delta(\lambda) h}\left[\phi_{24}(1) \chi 2(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{2}(x, \lambda)\right] \phi_{2}(\xi, \lambda), & 0<\xi \leqslant x<1, \\
\frac{1}{\Delta(\lambda) h}\left[\phi_{24}(1) \phi_{2}(x, \lambda)-\phi_{13}(1) \chi_{2}(x, \lambda)\right] \chi_{2}(\xi, \lambda)+\frac{1}{\Delta(\lambda) h}\left[\chi_{13}(1) \chi_{2}(x, \lambda)\right. \\
\left.-\chi_{24}(1) \phi_{2}(x, \lambda)\right] \phi_{2}(\xi, \lambda), & 0<x \leqslant \xi<1 .
\end{array}
\end{align*}
$$

Theorem 3.1. Let $f \in H$, then the function

$$
\begin{equation*}
y(x, \lambda)=h \int_{-1}^{0} G(x, \xi, \lambda) f(\xi) d \xi+\int_{0}^{1} G(x, \xi, \lambda) f(\xi) d \xi \tag{3.12}
\end{equation*}
$$

satisfies (1.1) and the CBC and TC (1.2)-(1.4).

Proof. From the above calculations in the construction of the Green's function, the theorem is obvious.

Thus the resolvent of the S-L problems (1.1)-(1.4) is obtained, and the function $G(x, \xi, \lambda)$ is the Green's function of the S-L problems (1.1)-(1.4). From the above calculations the domain of $(L-\lambda I)^{-1}$, which is the resolvent of $L$ at $\lambda \in \Omega$, is the space $H$. And the $\mathrm{S}-\mathrm{L}$ operator $L$ is self-adjoint. So by the Closed Graph Theorem, $(L-\lambda I)^{-1}$ is bounded. Then we have

THEOREM 3.2. The operator $L$ has only point-spectrum, i.e., $\sigma(L)=\sigma_{p}(L)$.
Lemma 3.3. Let $\delta \in \mathbb{R} \backslash \sigma_{p}(L)$. And let $\mu$ be the eigenvalue of $(L-\delta I)^{-1}$ and $y$ be the corresponding eigenfunction. Then $\frac{1}{\mu}$ is the eigenvalue of $L-\delta I$, and $y$ is the corresponding eigenfunction, and vice versa.

## 4. The modified parseval equality

In this section, we show the eigenvalues of the $S$-L problems (1.2)-(1.4) are simple under some conditions. And using the eigenfunction expansion of the Green's function, we prove the modified Parseval equality.

Let

$$
\begin{equation*}
D(\lambda)=\alpha_{4} \phi_{2}(1, \lambda)-\alpha_{2} \phi_{2}^{\prime}(1, \lambda)-\alpha_{3} \chi_{2}(1, \lambda)+\alpha_{1} \chi_{2}^{\prime}(1, \lambda) \tag{4.1}
\end{equation*}
$$

then

$$
\begin{equation*}
\Delta(\lambda)=\left(1+e^{2 i \gamma}\right) h-D(\lambda) e^{i \gamma} \tag{4.2}
\end{equation*}
$$

where $\Delta(\lambda)$ is the same as in Theorem 2.3.
Lemma 4.1. Let $\lambda \in \sigma_{p}\left(A_{\gamma}\right)=\{\lambda \in \mathbb{C} \mid \Delta(\lambda)=0$ for $\gamma \in[-\pi, \pi]\}$, and be denoted by $\lambda\left(A_{\gamma}\right)$. Then

1. $\lambda_{n}\left(A_{\gamma}\right)=\lambda_{n}\left(A_{-\gamma}\right)$ for $n \in \mathbb{N}$ and $0<\gamma<\pi$.
2. $\lambda_{n}\left(A_{\alpha}\right) \neq \lambda_{m}\left(A_{\beta}\right)$ for $n, m \in \mathbb{N}$ and $0 \leqslant \alpha, \beta \leqslant \pi$ with $\alpha \neq \beta$.

Proof. At first we prove the case (1). Let $n \in \mathbb{N}, \gamma \in(0, \pi)$ and $\lambda_{n}\left(A_{\gamma}\right) \in \sigma_{p}\left(A_{\gamma}\right)$. From (4.2), $\Delta(\lambda)=0$ if and only if $D(\lambda)=2 h \cos \gamma$. Hence $\lambda_{n}\left(A_{\gamma}\right)$ satisfies $D\left(\lambda_{n}\left(A_{\gamma}\right)\right)$ $=2 h \cos \gamma$. Since $\cos (-\gamma)=\cos \gamma$ and $h>0, D\left(\lambda_{n}\left(A_{\gamma}\right)\right)=D\left(\lambda_{n}\left(A_{-\gamma}\right)\right)$ for $n \in \mathbb{N}$. We obtain $\lambda_{n}\left(A_{\gamma}\right)=\lambda_{n}\left(A_{-\gamma}\right)$ for $n \in \mathbb{N}$.

Next we prove the case (2). Let $n, m \in \mathbb{N}, \alpha, \beta \in[0, \pi]$ with $\alpha \neq \beta$. From (4.2), $\lambda_{n}\left(A_{\alpha}\right) \in \sigma_{p}\left(A_{\alpha}\right), \lambda_{m}\left(A_{\beta}\right) \in \sigma_{p}\left(A_{\beta}\right)$ satisfy

$$
D\left(\lambda_{n}\left(A_{\alpha}\right)\right)=2 h \cos \alpha, \quad D\left(\lambda_{m}\left(A_{\beta}\right)\right)=2 h \cos \beta
$$

Since $\alpha, \beta \in[0, \pi]$ with $\alpha \neq \beta, \cos \alpha \neq \cos \beta$. Hence $D\left(\lambda_{n}\left(A_{\alpha}\right)\right) \neq D\left(\lambda_{m}\left(A_{\beta}\right)\right)$. Consequently, $\lambda_{n}\left(A_{\alpha}\right) \neq \lambda_{m}\left(A_{\beta}\right)$ for $n, m \in \mathbb{N}$.

Lemma 4.2. (Corollary 1, P246, [12]) Let $T$ be a closed symmetric operator on a complex Hilbert space with finite defect indices $(m, m)$, and $T_{1}$ and $T_{2}$ be self-adjoint extensions of $T$. If $\sigma\left(T_{1}\right) \cap(a, b)=\varnothing$, then $\sigma\left(T_{2}\right) \cap(a, b)$ consists of only isolated eigenvalues of total multiplicity $\leqslant m$.

The eigenvalues of the S-L problems with the coupled boundary conditions are concerned in $[3,7]$. And the simplicity of the eigenvalues of the S-L problem with the condition $h=1$ is obtained in Theorem 3.4 of [3]. Here we use the similar method to prove that the eigenvalues, of the S-L problems with the condition $h>0$, are simple.

Lemma 4.3. If $0<\gamma<\pi$ or $-\pi<\gamma<0, \gamma$ is as in (1.4), then the eigenvalues of the $S$ - $L$ operators $L$ are simple.

Proof. From Theorem 3.2, $\sigma\left(A_{\gamma}\right)=\sigma_{p}\left(A_{\gamma}\right)$. Let $\lambda_{n}\left(A_{0}\right) \in \sigma\left(A_{0}\right)$ for some $n \in \mathbb{N}$. By Lemma 4.1, we can choose the eigenvalue $\lambda_{m}\left(A_{\pi}\right) \in \sigma\left(A_{\pi}\right)$ to be the first eigenvalue in $\sigma\left(A_{\pi}\right)$ to the right of $\lambda_{n}\left(A_{0}\right)$ and $\lambda_{n}\left(A_{0}\right) \neq \lambda_{m}\left(A_{\pi}\right)$. We show the monotonicity of $D(\lambda)$ in the interval $\left[\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right]$ by a contradiction. Assume $D(\lambda)$ given in (4.1), is neither strictly increasing nor strictly decreasing in the interval $\left[\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right]$. Then there exists an $\alpha \in(0, \pi)$ such that

$$
D(\lambda)=2 h \cos \alpha
$$

has three solutions in $\left(\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right)$. That is, there are three points of $\sigma\left(A_{\alpha}\right)$ in $\left(\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right)$. On the other hand, no points of $\sigma\left(A_{0}\right), \sigma\left(A_{\pi}\right)$ are in $\left(\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right)$. And the operator $L$ for $\gamma=0$ and $\gamma=\pi$ are both self-adjoint operators. This is a contradiction from Lemma 4.2. Hence $D(\boldsymbol{\lambda})$ is strictly increasing or strictly decreasing in the interval $\left[\lambda_{n}\left(A_{0}\right), \lambda_{m}\left(A_{\pi}\right)\right]$. From Theorem 3.2, Lemma 4.2 and the equation (4.1), if $0<\gamma<\pi$ or $-\pi<\gamma<0$, then the eigenvalues of the S-L operators $L$ are simple.

By Lemmas 2.4, 3.3, 4.3 and the spectral theorem for compact operator, we have
Lemma 4.4. Let $\lambda_{1}, \lambda_{2}, \lambda_{3}, \cdots$, be the collection of all eigenvalues of the $S$ - $L$ operators $L$ and let $\varphi_{1}(x), \varphi_{2}(x), \cdots$ be the corresponding normalized eigenfunctions. Then

$$
\left|\lambda_{1}\right|<\left|\lambda_{2}\right|<\cdots\left|\lambda_{n}\right| \cdots \rightarrow \infty .
$$

And $\left\{\varphi_{n} ; n \in \mathbb{N}\right\}$ is complete in $H$ and

$$
\left\langle\varphi_{n}, \varphi_{m}\right\rangle= \begin{cases}1, & n=m \\ 0, & n \neq m\end{cases}
$$

LEMmA 4.5. The $S$-L problems (1.1)-(1.4) is equivalent to the following integral equation

$$
\begin{equation*}
y(x, \lambda)-\lambda\left(h \int_{-1}^{0} G(x, \xi) y(\xi) d \xi+\int_{0}^{1} G(x, \xi) y(\xi) d \xi\right)=0 \tag{4.3}
\end{equation*}
$$

Proof. From Theorem 3.1 we know that

$$
\begin{equation*}
y(x, \lambda)=h \int_{-1}^{0} G(x, \xi) f(\xi) d \xi+\int_{0}^{1} G(x, \xi) f(\xi) d \xi \tag{4.4}
\end{equation*}
$$

satisfies $-y^{\prime \prime}(x)+q(x) y(x)=f(x)$ and the CBC and TC (1.2)-(1.4). The nonhomogeneous differential equation (3.1) can be written in the form $-y^{\prime \prime}(x)+q(x) y(x)=\tilde{f}(x)$ where $\tilde{f}(x)=f(x)+\lambda y$. Then the equation has a solution

$$
\begin{equation*}
y(x, \lambda)=h \int_{-1}^{0} G(x, \xi) \tilde{f}(\xi) d \xi+\int_{0}^{1} G(x, \xi) \tilde{f}(\xi) d \xi \tag{4.5}
\end{equation*}
$$

which satisfies the CBC and TC (1.2), (1.3). If $f(x) \equiv 0$, then the corresponding homogeneous cases are the $S$-L problems (1.1)-(1.4). Consequently the problem is equivalent to

$$
\begin{equation*}
y(x, \lambda)-\lambda\left(h \int_{-1}^{0} G(x, \xi) y(\xi) d \xi+\int_{0}^{1} G(x, \xi) y(\xi) d \xi\right)=0 . \tag{4.6}
\end{equation*}
$$

THEOREM 4.6. Let $\left\{\lambda_{n}: n=1,2,3, \cdots\right\}$ denote the eigenvalues of the $S$ - $L$ problems (1.1)-(1.4) and $\varphi_{n}(x)$ be the corresponding normalized eigenfunction. Then

$$
G(x, \xi)=-\sum_{n=1}^{\infty} \frac{\varphi_{n}(x) \overline{\varphi_{n}(\xi)}}{\lambda_{n}}
$$

Proof. Suppose $\lambda_{n}$ be the eigenvalue of the S-L problems (1.1)-(1.4) and $\underline{\varphi_{n}(x)}$ be the corresponding normalized eigenfunction. Let $P(x, \xi)=G(x, \xi)+\sum_{n=1}^{\infty} \frac{\varphi_{n}(x) \overline{\varphi_{n}(\xi)}}{\lambda_{n}}$, then $P(x, \xi)$ is continuous and symmetric. We assume $P(x, \xi) \neq 0$. Then by the Fredholm integral equation, there is a number $\tilde{\lambda}$ and a function $\tilde{y}(x) \neq 0$ in $H$ such that

$$
\begin{equation*}
\tilde{y}(x)=\tilde{\lambda}\left(h \int_{-1}^{0} P(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \tilde{y}(\xi) d \xi\right) \tag{4.7}
\end{equation*}
$$

By Lemma 4.5

$$
\begin{equation*}
\varphi_{n}(x)-\lambda_{n}\left(h \int_{-1}^{0} G(x, \xi) \varphi_{n}(\xi) d \xi+\int_{0}^{1} G(x, \xi) \varphi_{n}(x)(\xi) d \xi\right)=0 . \tag{4.8}
\end{equation*}
$$

Putting $G(x, \xi)=P(x, \xi)-\sum_{n=1}^{\infty} \frac{\varphi_{n}(x) \overline{\varphi_{n}(\xi)}}{\lambda_{n}}$ in the equation (4.8) and through some calculations, we obtain

$$
\begin{equation*}
h \int_{-1}^{0} P(x, \xi) \varphi_{n}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \varphi_{n}(\xi) d \xi=0 \tag{4.9}
\end{equation*}
$$

Next we prove $\left\langle\tilde{y}, \varphi_{n}\right\rangle=0$ and $\tilde{y}$ is an eigenfunction. In accordance with (4.7) and (4.9), it leads to

$$
\begin{aligned}
\left\langle\tilde{y}, \varphi_{n}\right\rangle= & h \int_{-1}^{0} \tilde{y}(x) \overline{\varphi_{n}(x)} d x+\int_{0}^{1} \tilde{y}(x) \overline{\varphi_{n}(x)} d x \\
= & \tilde{\lambda} h \int_{-1}^{0}\left(h \int_{-1}^{0} P(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \tilde{y}(\xi) d \xi\right) \overline{\varphi_{n}(x)} d x \\
& +\tilde{\lambda} \int_{0}^{1}\left(h \int_{-1}^{0} P(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \tilde{y}(\xi) d \xi\right) \overline{\varphi_{n}(x)} d x \\
= & \tilde{\lambda} h \int_{-1}^{0}\left(h \int_{-1}^{0} P(x, \xi) \overline{\varphi_{n}(x)} d x+\int_{0}^{1} P(x, \xi) \overline{\varphi_{n}(x)} d x\right) \tilde{y}(\xi) d \xi \\
& +\tilde{\lambda} \int_{0}^{1}\left(h \int_{-1}^{0} P(x, \xi) \overline{\varphi_{n}(x)} d x+\int_{0}^{1} P(x, \xi) \overline{\varphi_{n}(x)} d x\right) \tilde{y}(\xi) d \xi=0 .
\end{aligned}
$$

And by (4.7) we have

$$
\begin{aligned}
\tilde{y}(x)- & \tilde{\lambda}\left(h \int_{-1}^{0} G(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} G(x, \xi) \tilde{y}(\xi) d \xi\right) \\
= & \tilde{y}(x)-\tilde{\lambda}\left(h \int_{-1}^{0}\left(P(x, \xi)-\sum_{n=1}^{\infty} \frac{\varphi_{n}(x) \overline{\varphi_{n}(\xi)}}{\lambda_{n}}\right) \tilde{y}(\xi) d \xi+\int_{0}^{1}(P(x, \xi)\right. \\
& \left.\left.\quad-\sum_{n=1}^{\infty} \frac{\varphi_{n}(x) \overline{\varphi_{n}(\xi)}}{\lambda_{n}}\right) \tilde{y}(\xi) d \xi\right) \\
= & \tilde{y}(x)-\tilde{\lambda}\left(\left(h \int_{-1}^{0} P(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \tilde{y}(\xi) d \xi\right)-\sum_{n=1}^{\infty} \frac{\varphi_{n}(x)}{\lambda_{n}}\left\langle\tilde{y}, \varphi_{n}\right\rangle\right) \\
= & \tilde{y}(x)-\tilde{\lambda}\left(\left(h \int_{-1}^{0} P(x, \xi) \tilde{y}(\xi) d \xi+\int_{0}^{1} P(x, \xi) \tilde{y}(\xi) d \xi\right)=0 .\right.
\end{aligned}
$$

This implies that $\tilde{y}$ is the eigenfunction of the $S$-L problems (1.1)-(1.4) by Lemma 4.5. Thus from $\left\langle\tilde{y}, \varphi_{n}\right\rangle=0$ and the completeness of the eigenfunctions, it leads to $\tilde{y}=0$. Consequently $P(x, \xi)=0$. We complete the proof.

At last, we will prove the modified Parseval equality, i.e. the Parseval equality in the associated Hilbert space $H$, holds.

THEOREM 4.7. Let $f \in H$, then the modified Parseval equality holds, namely

$$
\begin{equation*}
\|f\|_{H}^{2}=\sum_{n=1}^{\infty} c_{n}^{2}(f) \tag{4.10}
\end{equation*}
$$

where $\|f\|_{H}^{2}=\langle f, f\rangle$ and

$$
\begin{equation*}
c_{n}(f)=h \int_{-1}^{0} f(x) \overline{\varphi_{n}(x)} d x+\int_{0}^{1} f(x) \overline{\varphi_{n}(x)} d x \tag{4.11}
\end{equation*}
$$

Proof. Let $\tilde{C}_{0}^{\infty}$ be the set of all functions defined by

$$
f(x)=\left\{\begin{array}{l}
f_{1}(x), x \in[-1,0) \\
f_{2}(x), x \in(0,1]
\end{array}\right.
$$

where $f_{1} \in C_{0}^{\infty}[-1,0)$ and $f_{2} \in C_{0}^{\infty}(0,1]$. Obviously, $\tilde{C}_{0}^{\infty} \subset H$. And it is easy to verify $\tilde{C}_{0}^{\infty}$ is dense in $H$. At first we prove (4.10) holds for $f \in \tilde{C}_{0}^{\infty}$. Denote $g(x)=-f^{\prime \prime}(x)+$ $q(x) f$. Then by Lemma 4.5 and Theorem 4.6

$$
\begin{aligned}
f(x) & =h \int_{-1}^{0} G(x, \xi) g(\xi) d \xi+\int_{0}^{1} G(x, \xi) g(\xi) d \xi \\
& =-\sum_{n=1}^{\infty} \frac{1}{\lambda_{n}} \varphi_{n}(x)\left(h \int_{-1}^{0} \overline{\varphi_{n}(\xi)} g(\xi) d \xi+\int_{0}^{1} \overline{\varphi_{n}(\xi)} g(\xi) d \xi\right)
\end{aligned}
$$

Multiplying by $\overline{\varphi_{m}(x)}$ and integrating it, we have

$$
\begin{aligned}
& h \int_{-1}^{0} \overline{\varphi_{m}(x)} f(x) d x+\int_{0}^{1} \overline{\varphi_{m}(x)} f(x) d x \\
= & -\frac{1}{\lambda_{m}}\left(h \int_{-1}^{0} \overline{\varphi_{m}(\xi)} g(\xi) d \xi+\int_{0}^{1} \overline{\varphi_{m}(\xi)} g(\xi) d \xi\right) .
\end{aligned}
$$

Then for $f \in \tilde{C}_{0}^{\infty}$

$$
\begin{equation*}
f(x)=\sum_{n=1}^{\infty} c_{n}(f) \varphi_{n}(x) \tag{4.12}
\end{equation*}
$$

where $c_{n}(f)=\left\langle f, \varphi_{n}\right\rangle=h \int_{-1}^{0} f(x) \overline{\varphi_{n}(x)} d x+\int_{0}^{1} f(x) \overline{\varphi_{n}(x)} d x$. Thus for $f \in \tilde{C}_{0}^{\infty}$

$$
\begin{equation*}
\|f\|_{H}^{2}=\sum_{n=1}^{\infty} c_{n}^{2}(f) \tag{4.13}
\end{equation*}
$$

Next we prove (4.10) holds for all $f \in H$. since $\tilde{C}_{0}^{\infty}$ is dense in $H$ ([1]), there exists a sequence $\left\{f_{k}\right\}_{k \in \mathbb{N}} \subset \tilde{C}_{0}^{\infty}$ converging to $f$ in $H$, we will prove $\sum_{n=1}^{\infty} c_{n}^{2}(f)<\infty$ and $\lim _{k \rightarrow \infty} \sum_{n=1}^{\infty} c_{n}^{2}\left(f_{k}\right)=\sum_{n=1}^{\infty} c_{n}^{2}(f)$. By the Cauchy-Schwartz inequality $\left|c_{n}\left(f_{k}\right)-c_{n}(f)\right|=$ $\left|\left\langle f_{k}-f, \varphi_{n}\right\rangle\right| \leqslant\left\|f_{k}-f\right\|_{H}$. This implies $\lim _{k \rightarrow \infty} c_{n}\left(f_{k}\right)=c_{n}(f)$. Since $\sum_{n=1}^{\infty}\left(c_{n}\left(f_{k}\right)-c_{n}\left(f_{m}\right)\right)^{2}$ $=\sum_{n=1}^{\infty} c_{n}^{2}\left(f_{k}-f_{m}\right)=\left\|f_{k}-f_{m}\right\|_{H}^{2}$, so

$$
\begin{equation*}
\sum_{n=1}^{N}\left(c_{n}\left(f_{k}\right)-c_{n}\left(f_{m}\right)\right)^{2} \leqslant\left\|f_{k}-f_{m}\right\|_{H}^{2} \tag{4.14}
\end{equation*}
$$

Let $k \rightarrow \infty$, then $\sum_{n=1}^{N}\left(c_{n}(f)-c_{n}\left(f_{m}\right)\right)^{2} \leqslant\left\|f-f_{m}\right\|_{H}^{2}$. Letting $N \rightarrow \infty$ we have

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(c_{n}(f)-c_{n}\left(f_{m}\right)\right)^{2} \leqslant\left\|f-f_{m}\right\|_{H}^{2} \tag{4.15}
\end{equation*}
$$

Then by the Minkowski inequality

$$
\begin{aligned}
\sum_{n=1}^{\infty} c_{n}^{2}(f) & =\sum_{n=1}^{\infty}\left(c_{n}(f)-c_{n}\left(f_{m}\right)+c_{n}\left(f_{m}\right)\right)^{2} \\
& \leqslant\left(\left(\sum_{n=1}^{\infty}\left(c_{n}(f)-c_{n}\left(f_{m}\right)\right)^{2}\right)^{1 / 2}+\left(\sum_{n=1}^{\infty} c_{n}^{2}\left(f_{m}\right)\right)^{1 / 2}\right)^{2}<\infty
\end{aligned}
$$

and by the Hölder's inequality

$$
\begin{aligned}
\left|\sum_{n=1}^{\infty} c_{n}^{2}(f)-\sum_{n=1}^{\infty} c_{n}^{2}\left(f_{k}\right)\right| & =\left|\sum_{n=1}^{\infty}\left(c_{n}(f)-c_{n}\left(f_{k}\right)\right)\left(c_{n}(f)+c_{n}\left(f_{k}\right)\right)\right| \\
& \leqslant\left(\sum_{n=1}^{\infty}\left(c_{n}(f)-c_{n}\left(f_{k}\right)\right)^{2}\right)^{1 / 2}\left(\sum_{n=1}^{\infty}\left(c_{n}(f)+c_{n}\left(f_{k}\right)\right)^{2}\right)^{1 / 2} \rightarrow 0
\end{aligned}
$$

as $k \rightarrow \infty$. This means that $\lim _{k \rightarrow \infty} \sum_{n=1}^{\infty} c_{n}^{2}\left(f_{k}\right)=\sum_{n=1}^{\infty} c_{n}^{2}(f)$.
Since $f_{k} \rightarrow f$ in $H$ as $k \rightarrow \infty, \lim _{k \rightarrow \infty}\left\|f_{k}\right\|_{H}=\|f\|_{H}$. We obtain

$$
\begin{equation*}
\|f\|_{H}^{2}=\lim _{k \rightarrow \infty}\left\|f_{k}\right\|_{H}^{2}=\lim _{k \rightarrow \infty} \sum_{n=1}^{\infty} c_{n}^{2}\left(f_{k}\right)=\sum_{n=1}^{\infty} c_{n}^{2}(f) \tag{4.16}
\end{equation*}
$$

This completes the proof.
Acknowledgement. The authors thank the reviewer for the careful reading of the paper and for the constructive comments which led to the improvement of the presentation of the paper. This work is supported by the National Natural Science Foundation of China (11561050, 11661059, 11761030), the Natural Science Foundation of Hubei (2017CFB352) and the Doctoral Science Foundation of Hubei University for Nationalities (4148009).

## REFERENCES

[1] R. A. Adams and J. J. F. Fournier, Sobolev Spaces, Volume 140, Second Edition (Pure and Applied Mathematics), 2003.
[2] R. Kh. Amirov, Eigenvalues and normalized eigenfunctions of discontinuous Sturm-Liouville problem with transmission conditions, J. Math. Anal. Appl. 317 (1) (2006), 163-176.
[3] P. B. Bailey, W. N. Everitt, And A. Zettl, Regular and singular Sturm-Liouville problems with coupled boundary conditions, Proc. Roy. Soc. Edinburgh (A) 126 (1996), 505-514.
[4] E. Bairamov, E. Ugurlu, The determinants of dissipative Sturm-Liouville operators with transmission conditions, Mathematical and Computer Modelling 53 (5-6) 2011, 805-813.
[5] Mu Dan, Jiong Sun, Jijun Ao, Asymptotic behaviour of eigenvalues and eigenfunctions of SturmLiouville problems with coupled boundary condition and transmission condition, Operators and Matrices 9 (4) 2015, 877-890.
[6] W. N. Everitt, D. Race, On necessary and sufficient conditions for the existence of Caratheodory solutions of ordinary differential equations, Quaest. Math. 3 (1976), 507-512.
[7] W. N. Everitt, G. Nasri-Roudsari, Sturm-Liouville problems with coupled boundary conditions and Lagrange interpolation series, Journal of Computational Analysis and Applications 1 (4) (1999), 319-347.
[8] M. Kobayashi, Comments on eigenfunction expansions of discontinuous Sturm-Liouville systems, Applied Mathematics Letters 2 (3) (1989), 239-241.
[9] M. A. Naimark, Linear Differential Operators, English transl. in: Ungar, New York (1968).
[10] C. Shieh, V. A. Yurko, Inverse nodal and inverse spectral problems for discontinuous boundary value problems, J. Math. Anal. Appl. 347 (2008), 266-272.
[11] E. C. Titchmarsh, Eigenfunction Expansions Associated with Second-order Differential Equations, Clarendon Press, Oxford (1946).
[12] J. Weidmann, Linear Operators in Hilbert Spaces: Graduate texts in mathematics 68, SpringerVerlag, New York, 1980. translated by Joseph Szücs.
[13] C. Yang, Inverse nodal problems of discontinuous Sturm-Liouville operator, J. Differential Equations 254 (2013), 1992-2014.
[14] A. ZettL, Sturm-Liouville Theory, AMS, Mathematical Surveys and Monographs vol. 121 (2005).

Mu Dan
School of Science
Hubei University for Nationalities
Enshi, 445000
and
School of Mathematical Sciences
Inner Mongolia University
Hohhot, 010021, China
e-mail: bai_ mudan@hotmail.com
Jiong Sun
School of Mathematical Sciences
Inner Mongolia University
Hohhot, 010021, China
e-mail: masun@imu.edu.cn
Ji-Jun Ao
College of Sciences
Inner Mongolia University of Technology
Hohhot 010051, China
e-mail: george_ ao78@sohu.com
Junhui Xie
School of Science
Hubei University for Nationalities
Enshi, 445000, China
e-mail: smilexiejunhui@hotmail.com


[^0]:    Mathematics subject classification (2010): 34L20, 47E05.
    Keywords and phrases: Sturm-Liouville problems, Green's function, Parseval equality.

